

Phone: (580) 237-2304 www.pkequipment.com



Invoice To Account No.: 151	Deliver To:	* * * DOCUMEN	T COPY * * *	SE	RVICE INVOICE
WARRANTY CUSTOMER - P&K	P&K EQUIPMEN		Invoic	e Number:	1455899
EQUIPMENT	4121 N. HWY 81		In	voice Date:	1/31/2014
	ENID OK 73701	ENID OK 73701		Location:	2
			Work Orde	er Number:	318578
			Pay	ment Type:	Account
Bus Phone:	Bus Phone: 580-	237-2304			
Prv Phone:	Prv Phone: 800-	375-4440		Page:	1 of 7
			M	lake/Model:	JOHN DEERE JD 8360R
			Mete	er Reading:	712
			Seri	ial Number:	1RW8360RPBD043281
			Equipme	nt Number:	104371

Gen- Warranty

COMPLAINT:

SERVICE REQUEST: FAULT CODES; PTI 524232.02, PARK BRAKE PRESSURE SENSOR CIRCUIT FAULT, AND PTI 524228.11, PARK SUMP BLOCK VALVE FAULT,

CAUSE:

CORRECTION:

\$10,647.00



Phone: (580) 237-2304 www.pkequipment.com



Invoice To Account No.: 151	Deliver To: *** DOCUMEN	IT COPY * * *	ERVICE INVOICE
WARRANTY CUSTOMER - P&K EQUIPMENT	P&K EQUIPMENT, INC - ENID 4121 N. HWY 81 BYPASS	Invoice Number:	1455899
	ENID OK 73701	Invoice Date: Location:	1/31/2014 2
		Work Order Number:	318578
		Payment Type:	Account
Bus Phone: Prv Phone:	Bus Phone: 580-237-2304 Prv Phone: 800-375-4440	Page:	2 of 7
		Make/Model:	JOHN DEERE JD 8360R
		Meter Reading:	712
		Serial Number:	1RW8360RPBD043281
		Equipment Number:	104371

Gen- Warranty

SERVICE REQUEST: FAULT CODES; PTI 524232.02, PARK BRAKE PRESSURE SENSOR CIRCUIT FAULT, AND PTI 524228.11, PARK SUMP BLOCK VALVE FAULT.

DIAGNOSIS:

SERVICE QUOTE:

SERVICE PERFORMED: TRACTOR CAME INTO SHOP WITH ACTIVE CODES. ACU 001745,04 - PT1 524228,11 & 524232.02 - SFA 522288.06 - XSC 523329.14, 1044.07.

CHECKED DIAGNOSTICS PER CODE #'S. FILED DTAC CASE FOR ASSISTANCE DUE TO CHECKS ALL PROVED GOOD. REPLACED SENSOR AT PARK BRAKE. REPLACED PARK BRAKE SOLENOID. NO CHANGE INT THE PT1 CODES. CHECKED & COMPAIRED READING TO ANOTHER TRACTOR ON OUR LOT. FOUND PTI 13 WAS LOW. DID EXTENSIVE PRESSURE TEST & FOUND PARK BRAKE PRESSURE TO BE LOW. CHECKED ACU - SFA & XSC CODES THEY WERE CURED BY REPLACING THE LEFT HAND REVERSER. R & R STEERING COLUMN, REPLACED CONTROLLER. UPDATED SOFTWARE AT ALL CONTROLLERS FOR TRACTOR.

SPLIT TRACTOR TO TRY & LOCATE PARK BRAKE LEAK. REMOVED TRANSMISSION (HAD TO MODIFY BRACKETS & STAND TO ACCOMODATE TRANSMISSION TO ENGINE STAND) (HAD TO LOCATE, ASSEMBLE & CLEAN SPLITTING STANDS FOR THIS SPLIT). ATTACHED THE TRANSMISSION TO THE STAND. REMOVED THE REAR VALVE HOUSING, REMOVED REAR HOUSINGS. DISASSEMBLED PARK BRAKE PISTON. I FOUND NOTHING THAT WAS BENT, BROKEN OR WORN. HOWEVER THE MACHINE SURFACE OF THE REAR HOUSING WAS NOT A FLAT PLANED SURFACE. ADVISED DTAC, THEY RECOMMENDED TO REPLACE REAR VALVE HOUSING. WHEN NEW HOUSING ARRIVED IT WAS MACHINED THE SAME WAY. NOTIFIED DTAC, THEY GOT WITH ENGINEERING & SAID THAT WAS THE PROCESS USED TO MILL THE HOUSING. GOT WITH DTAC & SCOTT. WE DECIDED TO ALSO ORDER THE REAR TRANSMISSION HOUSING. REBUILT THE PARK BRAKE. REPLACED SEALING RINGS AT THE DRIVE SHFATS THROUGH THE REAR HOUSING. PUT REAR HOUSING ON, WHEN ATTEMPTING TO SET REAR VALVE HOUSING ON, I NOTICED SOMETHING IN THE TRANSMISSION THAT STOOD OUT. USED A FLEXIBLE MAGNET & DREW OUT A BOLT THAT HAD BEEN FLOATING IN THERE FOR SOME TIME PER THE DAMAGE TO THE BOLT. REOPENED DTAC WITH BOLT SPEC SO THEY COULD POSSIBLY TELL WHERE THIS SIZE BOLT WAS USED. THIS SIZE IS NOT USED ANYWHERE IN THE TRANSMISSION. DISASSEMBLED TRANSMISSION. FOUND ONE BRIGHT SILVER BOLT. CHECKED & IT APPEARS THAT IT WAS THE RIGHT SIZE FOR WHERE IT WAS, HOWEVER IT DID NOT MATCH THE ONE THAT SHOULD BE THERE. IT IS BELIEVED THAT THERE WAS A MIX UP ON BOLTS IN THIS FLANGE & THIS BOLT FELL INTO THE TRANSMISSION DURING THE PROCESS. REASSEMBLED TRANSMISSION, PUT TRANSMISSION IN TRACTOR, REPLACED BROKEN SOLENOID AT LEFT SIDE OF TRANSMISSION. REPLACED ONE WIRE CONNECTOR FOR SOLENOID, IT WAS DAMAGED DURING THE SEPARATION. FASTENED & SECURED ALL LINES, DRIVE SHAFTS. TORQUED MOUNTING HARDWARE.



Phone: (580) 237-2304 www.pkequipment.com



SERVICE INVOICE

Invoice To Account No.: 151	Deliver To:	* * * DOCUMEN	T COPY * * *	_I SE	RVICE INVOICE
WARRANTY CUSTOMER - P&K EQUIPMENT	P&K EQUIPMENT,		Invoi	ce Number:	1455899
EQUIPMENT	4121 N. HWY 81 BY	PASS		nvoice Date:	1/31/2014
	LIVID OK 73701			Location:	2
1			Work Ord	der Number:	318578
1			Pa	yment Type:	Account
Bus Phone:	Bus Phone: 580-23	7-2304			
Prv Phone:	Prv Phone: 800-37	5-4440		Page:	3 of 7
			N	/lake/Model:	JOHN DEERE JD 8360R
			Me	ter Reading:	712
			Sei	rial Number:	1RW8360RPBD043281
			Equipme	ent Number:	104371

STARTED TRACTOR, PT1 630.13 WOULD LOCK THE MACHINE OUT. TESTED & HAD NOT SYSTEM 2 PRESSURE. CHECKED & HAD NO LUBE PRESSURE. AFTER SEVERAL TESTS & CHECKS & SEVERAL CALLS TO & FROM DTAC. I FOUND THAT THE C2 SOLENOID CLUTCH HAD A STUCK VALVE. REMOVED VALVE, CLEANED BORE & REASSEMBLED. STARTED TRACTOR, CODE CLEARED & TRANSMISSION CALIBRATED. CHECKED PRESSURES. CHECKED READINGS AT PTI ADDRESSES FOR PARK PRESSURE, SYSTEM PRESSURE, LUBE PRESSURE, ALL ARE IN SPEC. DROVE TRACTOR & CHECKED, IN & OUT OF GEAR. PARK TO F-N-R. DROVE TRACTOR, NO CODES SET. I DROVE & CHECKED TRACTOR ON A FRIDAY AFTERNOON & THEN ON & ON MONDAY. ALL IS GOOD NOW.

TRACTOR WOULD NOT START GOOD ON INITIAL CHECKS. REPLACED BATTERIES DUE TO QUESTIONABLE VOLTAGE.

REPLACED TRANSMISSION OIL & FILTERS. 46 GALLONS OF BULK HYD FLUID.

<u>Part Number</u> 07480	Description GRIND DIS	<u>Quantity</u> 3.00	<u>Unit Nett</u> 1.33	<u>Value</u> \$3.99	Taxed Ind N
14M7303	Flange Nut	1.00	0.34	\$0.34	N
15H197	Elbow Fitting	1.00	3.94	\$3.94	N
19M7789	Screw	1.00	0.77	\$0.77	N
19M7800	Screw	1.00	1.06	\$1.06	N
2490	SPLIT R/O	1.00	-10,236.00	(\$10,236.00)	N
24H1122	Washer	3.00	0.40	\$1.20	N
24M7024	Washer	2.00	0.64	\$1.28	N
3750	FREIGHT	621.00	2.50	\$1,552.50	N
40M7043	Snap Ring	1.00	4.93	\$4.93	N
51M7045	O-Ring	2.00	1.64	\$3.28	N
51M7121	O-Ring	2.00	0.77	\$1.54	N
57M7689	Fuse	1.00	0.91	\$0.91	N
57M8560	Elec. Connector Terminal	2.00	0.30	\$0.60	N
57M8566	Elec. Connector Seal	2.00	0.07	\$0.14	N



Phone: (580) 237-2304 www.pkequipment.com



Invoice To Account No.: 151	Deliver To:	* * * DOCUMENT	COPY * * *	SER\	VICE INV	DICE
WARRANTY CUSTOMER - P&K	11	ENT, INC - ENID	Invoic	e Number:	14	55899
EQUIPMENT	4121 N. HWY 8 ENID OK 737		ln	voice Date:	1/	31/2014
	LINID OK 737	O1		Location:		2
			Work Ord	er Number:		318578
			Pay	ment Type:		Account
Bus Phone:	Bus Phone: 58					_
Prv Phone:	Prv Phone: 80	00-375-4440		Page:		4 of 7
			М	ake/Model: .	JOHN DEERE JO	8360R
			Mete	er Reading:		712
			Seri	al Number:	1RW8360RPBD	0043281
			Equipme	nt Number:		104371
Gen- Warranty 57M8924 E	Elec. Connector Housing		1.0	00 2.22	\$2.22	N
B2762R C)-Ring		9.0	00 1.93	\$17.37	N
F3171R C)-Ring		6.0	00 1.86	\$11.16	N
H140149 C	Clip		5.0	00 0.88	\$4.40	N
P50631 C)-Ring		2.0	00 2.86	\$5.72	N
PM37509 P	rimer		3.0	00 14.39	\$43.17	N
PM38657 S	Sealant		3.0	00 17.03	\$51.09	N
R112857 C)-RING		2.0	00 2.48	\$4.96	N
R115233 S	Shaft		1.0	53.08	\$53.08	N
R119207 S	EAL		2.0	00 8.21	\$16.42	N
R134 F	REON		7.0	00 4.29	\$30.03	N
R160628 C	Compression Spring		1.0	2.86	\$2.86	N
R161101 C	Compression Spring		1.0	00 3.29	\$3.29	N
R171705	Ring		5.0	00 6.30	\$31.50	N
R183410 C)-Ring		1.0	0.92	\$0.92	N
R195528 R	Ring		2.0	00 3.56	\$7.12	N
R201255 B	Bushing		1.0	00 19.91	\$19.91	N
R205587 P	iston Ring		8.0	00 6.53	\$52.24	N
R205591 D	isk Spring		3.0	00 60.10	\$180.30	N
R211099 P	acking		1.0	00 5.35	\$5.35	N
R212714 P	in		1.0	00 2.23	\$2.23	N
R214783 C	Compression Spring		1.0	00 6.23	\$6.23	N
R218285 P	in		1.0	7.31	\$7.31	N
R218648 S	pool Valve		1.0	00 24.55	\$24.55	N



Phone: (580) 237-2304 www.pkequipment.com



PARE CRUIPMENT, INC - ENID 1140 1141	Invoice To Account No.: 151		Deliver To:	* * * DOCUMENT	COPY * * *	<u> </u>	SERV	ICE INV	DICE
Bus Phone: Bu		P&K		•	ln	voice Numbe	r:	14	55899
Bus Phone:	EQUIPMENT			BYPASS		Invoice Date	e:	1/	31/2014
Payment Type: Bus Phone:			LINID OK 73701			Location	1:		2
Bus Phone: Prv Phone: Prv Phone: 800-375-4440					Work	Order Numbe	r:		318578
Prv Phone: Prv Phone: 800-375-4440 Page: 5 of 77						Payment Type	∋:		Account
Make/Model: JOHN DEERE JD 8360R Meter Reading: Serial Number: 1RW8360RPBD043281 Equipment Number: 1RW8360RPBD043281 Equipment Number: 104371	· ·								
Meter Reading: Serial Number: Equipment Number: Equipment Number: Equipment Number: 104371 Record Numarity Record Number: Requipment Number: Nu	Prv Phone:		Prv Phone: 800-3	75-4440 		Page); 		5 of 7
Part						Make/Mode	l: J	OHN DEERE JD	8360R
Equipment Number: 104371 Gen. Warranty R220147 Sealing Ring 1.00 1.49 \$1.49 N R2224235 Washer 2.00 0.41 \$0.62 N R225459 Clutch Plate 6.00 15.94 \$95.64 N R225461 Housing 1.00 198.64 \$186.64 N R225462 Piston 1.00 31.86 \$31.86 N R225620 Spool Valve 1.00 31.86 \$31.86 N R226598 Packing 1.00 6.25 \$6.95 N R242526 Cap Screw 23.00 6.28 \$144.44 N R242526 Cap Screw 23.00 6.28 \$144.44 N R242577 Plate 1.00 10.493 \$10.493 N R251181 Thrust Washer 1.00 13.31 \$13.31 N R264379 Spool Valve 1.00 33.36 \$33.36 N						Meter Reading	g:		712
Gen- Warranty R220147 Sealing Ring 1.00 1.49 \$1.49 N R224235 Washer 2.00 0.41 \$0.82 N R225459 Clutch Plate 6.00 15.94 \$95.64 N R225461 Housing 1.00 198.64 \$198.64 N R225462 Piston 1.00 31.16 \$131.16 N R225620 Spool Valve 1.00 31.86 \$31.86 N R226598 Packing 1.00 6.95 \$6.95 N R246004 Ball Bearing 1.00 19.40 \$19.40 N R249577 Plate 1.00 19.43 \$104.93 N R251181 Thrust Washer 1.00 10.93 \$104.93 N R260475 Valve Spool 1.00 13.31 \$13.31 N R264379 Spool Valve 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 1.03 \$1.03						Serial Numbe	r:	1RW8360RPB	0043281
R220147 Sealing Ring 1.00 1.49 \$1.49 N R224235 Washer 2.00 0.41 \$0.82 N R225459 Clutch Plate 6.00 15.94 \$95.64 N R225461 Housing 1.00 198.64 \$198.64 N R225462 Piston 1.00 131.16 \$131.16 N R225620 Spool Valve 1.00 31.86 \$31.86 N R226598 Packing 1.00 6.95 \$6.95 N R242526 Cap Screw 23.00 6.28 \$144.44 N R246004 Ball Bearing 1.00 19.40 \$19.40 N R249577 Plate 1.00 104.93 \$10.493 N R251181 Thrust Washer 1.00 104.93 \$10.493 N R260475 Valve Spool 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 33.36 \$33.36					Equi	pment Numbe	r:		104371
R225459 Clutch Plate 6.00 15.94 \$95.64 N R225461 Housing 1.00 198.64 \$198.64 N R225462 Piston 1.00 131.16 \$131.16 N R225620 Spool Valve 1.00 31.86 \$31.86 N R226598 Packing 1.00 6.95 \$6.95 N R242526 Cap Screw 23.00 6.28 \$144.44 N R246004 Ball Bearing 1.00 19.40 \$19.40 N R249577 Plate 1.00 10.493 \$104.93 N R251181 Thrust Washer 1.00 2.69 \$2.69 N R260475 Valve Spool 1.00 13.31 \$13.31 N R27166 O-Ring 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 32.32 \$32.32 N R56455 O-Ring 1.00 9.10 \$19.10 N		Sealing Ring				1.00	1.49	\$1.49	N
R225461 Housing 1.00 198.64 \$198.64 N R225462 Piston 1.00 131.16 \$131.16 N R225620 Spool Valve 1.00 31.86 \$31.86 N R226598 Packing 1.00 6.95 \$6.95 N R242526 Cap Screw 23.00 6.28 \$144.44 N R246004 Ball Bearing 1.00 19.40 \$19.40 N R249577 Plate 1.00 104.93 \$104.93 N R251181 Thrust Washer 1.00 2.69 \$2.69 N R260475 Valve Spool 1.00 13.31 \$13.31 N R264379 Spool Valve 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 30.33 \$33.36 N R313206 Gasket 1.00 32.32 \$32.32 N R539324 Gasket 1.00 19.10 \$19.10 <td< td=""><td>R224235</td><td>Washer</td><td></td><td></td><td></td><td>2.00</td><td>0.41</td><td>\$0.82</td><td>N</td></td<>	R224235	Washer				2.00	0.41	\$0.82	N
R225462 Piston 1.00 131.16 \$131.16 N R225620 Spool Valve 1.00 31.86 \$31.86 N R226598 Packing 1.00 6.95 \$6.95 N R242526 Cap Screw 23.00 6.28 \$144.44 N R246004 Ball Bearing 1.00 19.40 \$19.40 N R249577 Plate 1.00 104.93 \$104.93 N R251181 Thrust Washer 1.00 2.69 \$2.69 N R260475 Valve Spool 1.00 13.31 \$13.31 N R264379 Spool Valve 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 1.03 \$1.03 N R313206 Gasket 1.00 32.32 \$32.32 N R539324 Gasket 1.00 19.10 \$19.10 N R56635 O-Ring 1.00 0.84 \$0.84 N	R225459	Clutch Plate				6.00	15.94	\$95.64	N
R225620 Spool Valve 1.00 31.86 \$31.86 N R226598 Packing 1.00 6.95 \$6.95 N R242526 Cap Screw 23.00 6.28 \$144.44 N R246004 Ball Bearing 1.00 19.40 \$19.40 N R249577 Plate 1.00 104.93 \$104.93 N R251181 Thrust Washer 1.00 2.69 \$2.69 N R260475 Valve Spool 1.00 13.31 \$13.31 N R264379 Spool Valve 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 1.03 \$1.03 N R313206 Gasket 1.00 32.32 \$32.32 N R539324 Gasket 1.00 19.10 \$19.10 N R56638 Shim 2.00 0.96 \$1.92 N R99039 O-Ring 1.00 2.69 \$2.69 N <td>R225461</td> <td>Housing</td> <td></td> <td></td> <td></td> <td>1.00</td> <td>198.64</td> <td>\$198.64</td> <td>N</td>	R225461	Housing				1.00	198.64	\$198.64	N
R226598 Packing 1.00 6.95 \$6.95 N R242526 Cap Screw 23.00 6.28 \$144.44 N R246004 Ball Bearing 1.00 19.40 \$19.40 N R249577 Plate 1.00 104.93 \$104.93 N R251181 Thrust Washer 1.00 2.69 \$2.69 N R260475 Valve Spool 1.00 13.31 \$13.31 N R264379 Spool Valve 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 1.03 \$1.03 N R313206 Gasket 1.00 32.32 \$32.32 N R539324 Gasket 1.00 19.10 \$19.10 N R56635 O-Ring 1.00 0.84 \$0.84 N R86638 Shim 2.00 0.96 \$1.92 N R9039 O-Ring 1.00 2.69 \$2.69 N <t< td=""><td>R225462</td><td>Piston</td><td></td><td></td><td></td><td>1.00</td><td>131.16</td><td>\$131.16</td><td>N</td></t<>	R225462	Piston				1.00	131.16	\$131.16	N
R242526 Cap Screw 23.00 6.28 \$144.44 N R246004 Ball Bearing 1.00 19.40 \$19.40 N R249577 Plate 1.00 104.93 \$104.93 N R251181 Thrust Washer 1.00 2.69 \$2.69 N R260475 Valve Spool 1.00 13.31 \$13.31 N R264379 Spool Valve 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 1.03 \$1.03 N R313206 Gasket 1.00 32.32 \$32.32 N R539324 Gasket 1.00 19.10 \$19.10 N R56465 O-Ring 1.00 0.84 \$0.84 N R86638 Shim 2.00 0.96 \$1.92 N R99039 O-Ring 1.00 2.69 \$2.69 N RE179984 Pressure Sensor 1.00 205.44 \$205.44 N	R225620	Spool Valve				1.00	31.86	\$31.86	N
R246004 Ball Bearing 1.00 19.40 \$19.40 N R249577 Plate 1.00 104.93 \$104.93 N R251181 Thrust Washer 1.00 2.69 \$2.69 N R260475 Valve Spool 1.00 13.31 \$13.31 N R264379 Spool Valve 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 1.03 \$1.03 N R313206 Gasket 1.00 32.32 \$32.32 N R539324 Gasket 1.00 19.10 \$19.10 N R56465 O-Ring 1.00 0.84 \$0.84 N R86638 Shim 2.00 0.96 \$1.92 N R99039 O-Ring 1.00 2.69 \$2.69 N RE179984 Pressure Sensor 1.00 205.44 \$205.44 N RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96	R226598	Packing				1.00	6.95	\$6.95	N
R249577 Plate 1.00 104.93 \$104.93 N R251181 Thrust Washer 1.00 2.69 \$2.69 N R260475 Valve Spool 1.00 13.31 \$13.31 N R264379 Spool Valve 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 1.03 \$1.03 N R313206 Gasket 1.00 32.32 \$32.32 N R539324 Gasket 1.00 19.10 \$19.10 N R56465 O-Ring 1.00 0.84 \$0.84 N R86638 Shim 2.00 0.96 \$1.92 N R99039 O-Ring 1.00 2.69 \$2.69 N RE179984 Pressure Sensor 1.00 205.44 \$205.44 N RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54	R242526	Cap Screw				23.00	6.28	\$144.44	N
R251181 Thrust Washer 1.00 2.69 \$2.69 N R260475 Valve Spool 1.00 13.31 \$13.31 N R264379 Spool Valve 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 1.03 \$1.03 N R313206 Gasket 1.00 32.32 \$32.32 N R539324 Gasket 1.00 19.10 \$19.10 N R56465 O-Ring 1.00 0.84 \$0.84 N R86638 Shim 2.00 0.96 \$1.92 N R99039 O-Ring 1.00 2.69 \$2.69 N RE179984 Pressure Sensor 1.00 205.44 \$205.44 N RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	R246004	Ball Bearing				1.00	19.40	\$19.40	N
R260475 Valve Spool 1.00 13.31 \$13.31 N R264379 Spool Valve 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 1.03 \$1.03 N R313206 Gasket 1.00 32.32 \$32.32 N R539324 Gasket 1.00 19.10 \$19.10 N R56465 O-Ring 1.00 0.84 \$0.84 N R86638 Shim 2.00 0.96 \$1.92 N R99039 O-Ring 1.00 2.69 \$2.69 N RE179984 Pressure Sensor 1.00 205.44 \$205.44 N RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	R249577	Plate				1.00	104.93	\$104.93	N
R264379 Spool Valve 1.00 33.36 \$33.36 N R27166 O-Ring 1.00 1.03 \$1.03 N R313206 Gasket 1.00 32.32 \$32.32 N R539324 Gasket 1.00 19.10 \$19.10 N R56465 O-Ring 1.00 0.84 \$0.84 N R86638 Shim 2.00 0.96 \$1.92 N R99039 O-Ring 1.00 2.69 \$2.69 N RE179984 Pressure Sensor 1.00 205.44 \$205.44 N RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	R251181	Thrust Wash	er			1.00	2.69	\$2.69	N
R27166 O-Ring 1.00 1.03 \$1.03 N R313206 Gasket 1.00 32.32 \$32.32 N R539324 Gasket 1.00 19.10 \$19.10 N R56465 O-Ring 1.00 0.84 \$0.84 N R86638 Shim 2.00 0.96 \$1.92 N R99039 O-Ring 1.00 2.69 \$2.69 N RE179984 Pressure Sensor 1.00 205.44 \$205.44 N RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	R260475	Valve Spool				1.00	13.31	\$13.31	N
R313206 Gasket 1.00 32.32 \$32.32 N R539324 Gasket 1.00 19.10 \$19.10 N R56465 O-Ring 1.00 0.84 \$0.84 N R86638 Shim 2.00 0.96 \$1.92 N R99039 O-Ring 1.00 2.69 \$2.69 N RE179984 Pressure Sensor 1.00 205.44 \$205.44 N RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	R264379	Spool Valve				1.00	33.36	\$33.36	N
R539324 Gasket 1.00 19.10 \$19.10 N R56465 O-Ring 1.00 0.84 \$0.84 N R86638 Shim 2.00 0.96 \$1.92 N R99039 O-Ring 1.00 2.69 \$2.69 N RE179984 Pressure Sensor 1.00 205.44 \$205.44 N RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	R27166	O-Ring				1.00	1.03	\$1.03	N
R56465 O-Ring 1.00 0.84 \$0.84 N R86638 Shim 2.00 0.96 \$1.92 N R99039 O-Ring 1.00 2.69 \$2.69 N RE179984 Pressure Sensor 1.00 205.44 \$205.44 N RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	R313206	Gasket				1.00	32.32	\$32.32	N
R86638 Shim 2.00 0.96 \$1.92 N R99039 O-Ring 1.00 2.69 \$2.69 N RE179984 Pressure Sensor 1.00 205.44 \$205.44 N RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	R539324	Gasket				1.00	19.10	\$19.10	N
R99039 O-Ring 1.00 2.69 \$2.69 N RE179984 Pressure Sensor 1.00 205.44 \$205.44 N RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	R56465	O-Ring				1.00	0.84	\$0.84	N
RE179984 Pressure Sensor 1.00 205.44 \$205.44 N RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	R86638	Shim				2.00	0.96	\$1.92	N
RE190805 Diagnostic Coupling 1.00 12.86 \$12.86 N RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	R99039	O-Ring				1.00	2.69	\$2.69	N
RE210857 OIL FILTER 2.00 69.98 \$139.96 N RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	RE179984	Pressure Ser	sor			1.00	205.44	\$205.44	N
RE211156 Solenoid Valve 1.00 152.54 \$152.54 N	RE190805	Diagnostic Co	oupling			1.00	12.86	\$12.86	N
	RE210857	OIL FILTER				2.00	69.98	\$139.96	N
RE212444 Valve Seat 1.00 131.16 \$131.16 N	RE211156	Solenoid Val	/e			1.00	152.54	\$152.54	N
	RE212444	Valve Seat				1.00	131.16	\$131.16	N



4121 North Highway 81 Bypass Enid, OK 73701 Phone: (580) 237-2304 www.pkequipment.com



Invoice To Account No.:	151	Deliver To:	* * * DOCUMEN	T COPY * * *	SER	VICE INV	OICE
WARRANTY CUSTOM	ER - P&K	P&K EQUIPMEN	•	Invoice	Number:	14	455899
EQUIPMENT		4121 N. HWY 81 ENID OK 7370		Inv	oice Date:	1.	/31/2014
		ENID OK 7370	1	·	Location:		2
				Work Orde	er Number:		318578
		li		Payr	ment Type:		Account
Bus Phone:		Bus Phone: 580					
Prv Phone:		Prv Phone: 800)-375-4440 - 		Page:		6 of 7
				Ma	ake/Model:	JOHN DEERE JO	0 8360R
				Mete	r Reading:		712
				Seria	al Number:	1RW8360RPBI	D043281
				Equipmer	nt Number:		104371
Gen- Warranty RE212709	Control Va	lve		2.0	00 176.15	\$352.30	N
RE217077	Trans Oil F	ressure Sensor		1.0	00 77.44	\$77.44	N
RE236921	Compressi	on Spring		1.0	0 7.72	\$7.72	N
RE244397	Solenoid V	alve		2.0	93.70	\$187.40	N
RE246597	Cover			1.0	0 1,649.00	\$1,649.00	N
RE246760	Manifold			1.0	00 1,755.94	\$1,755.94	N
RE272647	Trans Oil F	ressure Sensor		1.0	00 107.92	\$107.92	N
RE294021	Clutch Disl	(6.0	00 30.59	\$183.54	N
RE306839	Module			1.0	00 789.82	\$789.82	N
RE32442	Seal			1.0	00 22.39	\$22.39	N
RE40413	Seal			1.0	00 19.80	\$19.80	N
RE46684	Fitting Plug	I		1.0	0 3.73	\$3.73	N
TY22028	HY-Gard			214.0	0 2.76	\$590.64	N
TY25624	GREEN SI	PRA		2.0	0 8.54	\$17.08	N
TY25879	DRY CHAR	RGE		2.0	00 169.64	\$339.28	N
TY26101	Cleaning S	olvent		2.0	00 4.43	\$8.86	N
TY26575	COOL-GAI	RD		1.0	0 13.72	\$13.72	N
TY26633	Degreasing	Solvent		15.0	00 3.16	\$47.40	N
TY5021	TAPE			1.0	0 2.75	\$2.75	N



Phone: (580) 237-2304 www.pkequipment.com



Invoice To Account No.: 151		Deliver To:	* * * DOCUM	ENT COPY	*** S	ERVICI	E INVOI	CE
WARRANTY CUSTOMER - PE EQUIPMENT	k K	P&K EQUIPME 4121 N. HWY 8 ENID OK 7370	1 BYPASS	,	Invoice Number: Invoice Date: Location: Work Order Number: Payment Type:		31	5 899 /2014 2 8578 count
Bus Phone: Prv Phone:		Bus Phone: 580 Prv Phone: 800			Page:			7 of 7
Gen- Warranty U44496	O-RING				Make/Model: Meter Reading: Serial Number: Equipment Number:	1RW	DEERE JD 83 8360RPBD04 10 \$3,80	712
Labor: \$10,647.00	Parts: \$8,272	2.49 OL	&M: \$0.00	Misc:	(\$8,683.50)	Sub-Total:	<u> </u>	
Customer PO No: Tax Exempt No: EXEMP' Advisor: Timothy	T Krienke					Labor: Parts: OL&M: Misc: Sales Tax: Total:	(\$8,683	72.49 50.00 3.50) 50.00

TERMS AND CONDITIONS

Farm Plan transactions are subject to the terms of Farm Plan.

All open accounts are payable by the 10th of the month following the date of purchase. Accounts not paid by the 10th of the month following purchase are subject to interest charges of 1.5% per month, which is an 18% annual rate. Accounts which are not paid by the 10th of the month are subject to closure and collection procedures. Parties agree that jurisdiction and venue of any action brought to enforce or collect this account shall properly lie in Kingfisher County, State of Oklahoma. In the event that P&K Equipment, Inc. must employ an attorney to enforce or collect this amount, they shall be entitled to recover reasonable attorney fees and expenses incurred therein.

Received by:	Date:	
--------------	-------	--



Phone: (580) 237-2304 www.pkequipment.com



Invoice To Account No.:	Deliver To:	* * * DOCUMENT	COPY***	ERVICE INVOICE
Internal Used Stock No. 196100	Internal Used Sto	ock No. 196100	Invoice Number:	1455937
			Invoice Date:	1/31/2014
			Location:	2
			Work Order Number:	318578
			Payment Type:	Account
Bus Phone:	Bus Phone:			
Prv Phone:	Prv Phone:		Page:	1 of 4
			Make/Model:	JOHN DEERE JD 8360R
			Meter Reading:	712
			Serial Number:	1RW8360RPBD043281
			Equipment Number:	104371

Gen1- Internal COMPLAINT:

SERVICE REQUEST:steering stop

CAUSE:

CORRECTION:

SERVICE REQUEST:steering stop

\$680.00

DIAGNOSIS:

SERVICE QUOTE:

SERVICE PERFORMED: RIGHT HAND STEERING STOP WAS GONE, BOLT THAT HOLDS STOP IN PLACE HAD BROKE. REMOVED BROKEN BOLT. REPLACED STEERING STOP.

EXT WASH, INT COMPLETE, WAX

Labor: \$405.00	Parts: \$48.17	OL&M: \$275.00	Misc: \$7.50	Sub-Tota	l: \$735.67	
TY26633	Degreasing Solvent		2.00	3.29	\$6.58	N
R193545	Tool		1.00	39.84	\$39.84	N
3750	FREIGHT		3.00	2.50	\$7.50	N
24H1288	Washer		1.00	0.63	\$0.63	N
<u>Part Number</u> 19M7788	<u>Description</u> Screw		<u>Quantity</u> 1.00	Unit Nett 1.12	<u>Value</u> \$1.12	<u>Taxed Ind</u> N

GEN2- Internal COMPLAINT:

SERVICE REQUEST: FAULT CODES; PTI 524232.02, PARK BRAKE PRESSURE SENSOR CIRCUIT FAULT, AND PTI 524228.11, PARK SUMP BLOCK VALVE FAULT,

CAUSE:



4121 North Highway 81 Bypass Enid, OK 73701 Phone: (580) 237-2304

Phone: (580) 237-2304 www.pkequipment.com



1RW8360RPBD043281

104371

Invoice To Account No.:	Deliver To:	* * * DOCUMENT	COPY * * *	ı SE	RVICE INVOICE
Internal Used Stock No. 196100	Internal Used St	ock No. 196100	Invoi	ce Number:	1455937
			ı	nvoice Date:	1/31/2014
				Location:	2
			Work Or	der Number:	318578
			Pa	yment Type:	Account
Bus Phone:	Bus Phone:				
Prv Phone:	Prv Phone:			Page:	2 of 4
				Make/Model:	JOHN DEERE JD 8360R
			Me	ter Reading:	712

Serial Number:

Equipment Number:

GEN2- Internal

CORRECTION:



Phone: (580) 237-2304 www.pkequipment.com



Invoice To Account No.:	Deliver To: *** DOCUMENT	COPY***	RVICE INVOICE
Internal Used Stock No. 196100	Internal Used Stock No. 196100	Invoice Number:	1455937
		Invoice Date:	1/31/2014
		Location:	2
		Work Order Number:	318578
		Payment Type:	Account
Bus Phone:	Bus Phone:		
Prv Phone:	Prv Phone:	Page:	3 of 4
		Make/Model:	JOHN DEERE JD 8360R
		Meter Reading:	712
		Serial Number:	1RW8360RPBD043281
		Equipment Number:	104371

GEN2- Internal

SERVICE REQUEST: FAULT CODES; PTI 524232.02, PARK BRAKE PRESSURE SENSOR CIRCUIT FAULT, AND PTI 524228.11, PARK SUMP BLOCK VALVE FAULT,

DIAGNOSIS:

SERVICE QUOTE:

SERVICE PERFORMED: TRACTOR CAME INTO SHOP WITH ACTIVE CODES. ACU 001745.04 - PT1 524228.11 & 524232.02 - SFA 522288.06 - XSC 523329.14, 1044.07.

CHECKED DIAGNOSTICS PER CODE #'S. FILED DTAC CASE FOR ASSISTANCE DUE TO CHECKS ALL PROVED GOOD. REPLACED SENSOR AT PARK BRAKE. REPLACED PARK BRAKE SOLENOID. NO CHANGE INT THE PT1 CODES. CHECKED & COMPAIRED READING TO ANOTHER TRACTOR ON OUR LOT. FOUND PTI 13 WAS LOW. DID EXTENSIVE PRESSURE TEST & FOUND PARK BRAKE PRESSURE TO BE LOW. CHECKED ACU - SFA & XSC CODES THEY WERE CURED BY REPLACING THE LEFT HAND REVERSER. R & R STEERING COLUMN, REPLACED CONTROLLER. UPDATED SOFTWARE AT ALL CONTROLLERS FOR TRACTOR.

SPLIT TRACTOR TO TRY & LOCATE PARK BRAKE LEAK, REMOVED TRANSMISSION (HAD TO MODIFY BRACKETS & STAND TO ACCOMODATE TRANSMISSION TO ENGINE STAND) (HAD TO LOCATE, ASSEMBLE & CLEAN SPLITTING STANDS FOR THIS SPLIT). ATTACHED THE TRANSMISSION TO THE STAND. REMOVED THE REAR VALVE HOUSING, REMOVED REAR HOUSINGS. DISASSEMBLED PARK BRAKE PISTON. I FOUND NOTHING THAT WAS BENT, BROKEN OR WORN. HOWEVER THE MACHINE SURFACE OF THE REAR HOUSING WAS NOT A FLAT PLANED SURFACE. ADVISED DTAC, THEY RECOMMENDED TO REPLACE REAR VALVE HOUSING. WHEN NEW HOUSING ARRIVED IT WAS MACHINED THE SAME WAY. NOTIFIED DTAC, THEY GOT WITH ENGINEERING & SAID THAT WAS THE PROCESS USED TO MILL THE HOUSING. GOT WITH DTAC & SCOTT. WE DECIDED TO ALSO ORDER THE REAR TRANSMISSION HOUSING. REBUILT THE PARK BRAKE. REPLACED SEALING RINGS AT THE DRIVE SHFATS THROUGH THE REAR HOUSING. PUT REAR HOUSING ON, WHEN ATTEMPTING TO SET REAR VALVE HOUSING ON, I NOTICED SOMETHING IN THE TRANSMISSION THAT STOOD OUT. USED A FLEXIBLE MAGNET & DREW OUT A BOLT THAT HAD BEEN FLOATING IN THERE FOR SOME TIME PER THE DAMAGE TO THE BOLT. REOPENED DTAC WITH BOLT SPEC SO THEY COULD POSSIBLY TELL WHERE THIS SIZE BOLT WAS USED. THIS SIZE IS NOT USED ANYWHERE IN THE TRANSMISSION. DISASSEMBLED TRANSMISSION. FOUND ONE BRIGHT SILVER BOLT. CHECKED & IT APPEARS THAT IT WAS THE RIGHT SIZE FOR WHERE IT WAS, HOWEVER IT DID NOT MATCH THE ONE THAT SHOULD BE THERE. IT IS BELIEVED THAT THERE WAS A MIX UP ON BOLTS IN THIS FLANGE & THIS BOLT FELL INTO THE TRANSMISSION DURING THE PROCESS. REASSEMBLED TRANSMISSION, PUT TRANSMISSION IN TRACTOR. REPLACED BROKEN SOLENOID AT LEFT SIDE OF TRANSMISSION. REPLACED ONE WIRE CONNECTOR FOR SOLENOID, IT WAS DAMAGED DURING THE SEPARATION. FASTENED & SECURED ALL LINES, DRIVE SHAFTS. TORQUED MOUNTING HARDWARE.



4121 North Highway 81 Bypass Enid, OK 73701
Phone: (580) 237-2304

Phone: (580) 237-2304 www.pkequipment.com



Invoice To Account No.;	Deliver To:	Deliver To: *** DOCUMENT COPY		SERVICE INVOICE		
Internal Used Stock No. 196100	Internal Used Sto	ock No. 196100	Invoice Nu	mber:	1455937	
			Invoice	Date:	1/31/2014	
			Loc	cation:	2	
			Work Order Nu	mber:	318578	
			Payment	Type:	Account	
Bus Phone:	Bus Phone:					
Prv Phone:	Prv Phone:			Page:	4 of 4	
			Make/N	vlodel:	JOHN DEERE JD 8360R	
			Meter Re	ading:	712	
			Serial Nu	mber:	1RW8360RPBD043281	
			Equipment Nu	mber:	104371	

STARTED TRACTOR, PT1 630.13 WOULD LOCK THE MACHINE OUT. TESTED & HAD NOT SYSTEM 2 PRESSURE. CHECKED & HAD NO LUBE PRESSURE. AFTER SEVERAL TESTS & CHECKS & SEVERAL CALLS TO & FROM DTAC. I FOUND THAT THE C2 SOLENOID CLUTCH HAD A STUCK VALVE. REMOVED VALVE, CLEANED BORE & REASSEMBLED. STARTED TRACTOR, CODE CLEARED & TRANSMISSION CALIBRATED. CHECKED PRESSURES. CHECKED READINGS AT PTI ADDRESSES FOR PARK PRESSURE, SYSTEM PRESSURE, LUBE PRESSURE, ALL ARE IN SPEC. DROVE TRACTOR & CHECKED, IN & OUT OF GEAR. PARK TO F-N-R. DROVE TRACTOR, NO CODES SET. I DROVE & CHECKED TRACTOR ON A FRIDAY AFTERNOON & THEN ON & ON MONDAY. ALL IS GOOD NOW.

TRACTOR WOULD NOT START GOOD ON INITIAL CHECKS. REPLACED BATTERIES DUE TO QUESTIONABLE VOLTAGE.

REPLACED TRANSMISSION OIL & FILTERS. 46 GALLONS OF BULK HYD FLUID.

<u>Part Number</u> 2490	<u>Description</u> SPLIT R/O				Quantity 1.00	<u>Unit Nett</u> 10,236.00 \$1	<u>Value</u> <u>Taxed Ind</u> 10,236.00 N
Labor: \$0.00	Parts: \$0.0	00 OL&N	Λ: \$0.00	Misc:	\$10,236.00	Sub-Total:	\$10,236.00
		· · · · · · · · · · · · · · · · · · ·	-			Labor:	\$405.00
Customer PO No:						Parts:	\$48.17
Tax Exempt No:	731259841					OL&M:	\$275.00
Advisor:	Timothy Krienke					Misc:	\$10,243.50
						Sales Tax:	\$0.00
						Total:	\$10.971.67

TERMS AND CONDITIONS

Farm Plan transactions are subject to the terms of Farm Plan.

All open accounts are payable by the 10th of the month following the date of purchase. Accounts not paid by the 10th of the month following purchase are subject to interest charges of 1.5% per month, which is an 18% annual rate. Accounts which are not paid by the 10th of the month are subject to closure and collection procedures. Parties agree that jurisdiction and venue of any action brought to enforce or collect this account shall properly lie in Kingfisher County, State of Oklahoma. In the event that P&K Equipment, Inc. must employ an attorney to enforce or collect this amount, they shall be entitled to recover reasonable attorney fees and expenses incurred therein.

Received by:	Date:
--------------	-------



Phone: (580) 237-2304 www.pkequipment.com



Invoice To Account No.;	Deliver To:	* * * DOCUMENT C	OPY * * *	ERVICE INVOICE
Internal Used Stock No. 196100	Internal Used S	tock No. 196100	Invoice Number:	1703506
	ŀ		Invoice Date:	9/29/2014
			Location:	2
			Work Order Number:	383475
			Payment Type:	Account
Bus Phone:	Bus Phone:			
Prv Phone:	Prv Phone:		Page:	1 of 2
			Make/Model:	JOHN DEERE JD 8360R
			Meter Reading:	725
			Serial Number:	1RW8360RPBD043281
			Equipment Number:	104371

Gen1- Internal COMPLAINT:

SERVICE REQUEST:install return and power beyond

CAUSE:

CORRECTION:

DIAGNOSIS:

\$157.50

SERVICE QUOTE:

SERVICE PERFORMED: DROVE TO MACHINE INSTALLED POWER BEYOND ONTO MACHINE. KIT DID NOT COME WITH CASE DRAIN. WENT BACK TO SHOP & GOT FILLINGS FOR CHAIN & DROVE BACK TO TRACTOR & INSTALLED CASE DRAIN.

Part Number 4120	Description SERVICE CALL FEE, ZONE 2	Quantity 1.00	<u>Unit Nett</u> 100.00	<u>Value</u> \$100.00	<u>Taxed Ind</u> N
R218933	Cover	1.00	17.33	\$17.33	N
RE222718	Breakaway Coupler	1.00	142.07	\$142.07	N



Phone: (580) 237-2304 www.pkequipment.com



Invoice To Account No).:	Deliver To:	* * * DOCUMENT	COPY * * *	S	ERVICE	E INVOICE
Internal Used Stock	No. 196100	Internal Used S	Stock No. 196100	Inv	oice Number:		1703506
					Invoice Date:		9/29/2014
					Location:		2
				Work (Order Number:		383475
				∭ F	Payment Type:		Account
Bus Phone:		Bus Phone:					
Prv Phone:		Prv Phone:			Page:		2 of 2
					Make/Model:	JOHN [DEERE JD 8360R
				۱ ۸	/leter Reading:		725
					Serial Number:	1RW	8360RPBD043281
				Equip	ment Number:		104371
Gen1- Internal RE248312	Adapter Fitting	3			1.00	46.07	\$46.07 N
Labor: \$157.50	Parts: \$205.	47 OL8	M: \$0.00	Misc: \$100	0.00	Sub-Total:	\$462.97
						Labor:	\$157.50
Customer PO No:						Parts:	\$205.47
Tax Exempt No:	731259841					OL&M:	\$0.00
Advisor:	SCOTT WARNOCK					Misc:	\$100.00
					_	Sales Tax:	\$0.00
						Total	\$462.97

TERMS AND CONDITIONS

Farm Plan transactions are subject to the terms of Farm Plan.

All open accounts are payable by the 10th of the month following the date of purchase. Accounts not paid by the 10th of the month following purchase are subject to interest charges of 1.5% per month, which is an 18% annual rate. Accounts which are not paid by the 10th of the month are subject to closure and collection procedures. Parties agree that jurisdiction and venue of any action brought to enforce or collect this account shall properly lie in Kingfisher County, State of Oklahoma. In the event that P&K Equipment, Inc. must employ an attorney to enforce or collect this amount, they shall be entitled to recover reasonable attorney fees and expenses incurred therein.

Recei	ived	by	
-------	------	----	--



Phone: (580) 237-2304 www.pkequipment.com



Invoice To Acco	ount No.:	Deliver To:	* * * DOCUMENT C	OPY * * *	ERVICE INVOICE
Internal Used	Stock No. 196100	Internal Used	Stock No. 196100	Invoice Number:	1722000
				Invoice Date:	10/18/2014
				Location:	2
				Work Order Number:	383475
				Payment Type:	Account
Bus Phone:		Bus Phone:			
Prv Phone:		Prv Phone:		Page:	1 of 2
				Make/Model:	JOHN DEERE JD 8360R
				Meter Reading:	725
				Serial Number:	1RW8360RPBD043281
				Equipment Number:	104371

Gen- Internal COMPLAINT:

SERVICE REQUEST:get ready for rental

CAUSE:

CORRECTION: DIAGNOSIS:

\$141.67

SERVICE QUOTE:

SERVICE PERFORMED: JUMP STARTED TRACTOR. FILLED WITH 30 GALLONS DIESEL FUEL. SHOWED CUSTOMER HOW IVT TRANSMISSION WORKED.

NOTE: TRACTOR HAD A USED VEHICLE CONTROLLER ON CAB. TRANSMISSION WENT INTO CALIBRATION WHEN STARTED.

<u>Part Number</u>	<u>Description</u>		<u>Quantity</u>	<u>Unit Nett</u>	<u>Value</u>	<u>Taxed Ind</u>
9955	DIESEL		30.00	3.89	\$116.70	N
Labor: \$141.67	Parts: \$0.00	OL&M: \$0.00	Misc: \$116.70	Sub-Total:	\$258.37	

/PICK UP ONLY Internal COMPLAINT:

PICK UP ONLY, NO DELIVERY

CAUSE:

CORRECTION:

PICKED UP 8360R from Kent Wayman 10/1/14 (Rental return 816 hrs)

Unit Nett Value Taxed Ind Quantity **Description** Part Number



Phone: (580) 237-2304 www.pkequipment.com



SEDVICE INVOICE

Invoice To Account No.:	D	eliver To:	* * * DOCUMEN	NT COPY *	**	SERVICE	E INVOICE
Internal Used Stock No. 1961	100 I	Internal Used Stoo	ck No. 196100		Invoice Number	:	1722000
					Invoice Date	:	10/18/2014
					Location	:	2
				v	ork Order Number	•	383475
					Payment Type	:	Account
Bus Phone:		Bus Phone:					
Prv Phone:	F	Prv Phone:			Page	:	2 of 2
					Make/Model	: JOHN	DEERE JD 8360R
					Meter Reading	:	725
					Serial Number	: 1RW	8360RPBD043281
				1	Equipment Number	:	104371
/PICK UP ONLY Internal				L			
5220	40HP+ TRANSF	PORT FEE, ZONE :	2		1.00	125.00	\$125.00 N
Labor: \$0.00	Parts: \$0.00	OL&M	1: \$0.00	Misc:	\$125.00	Sub-Total:	\$125.00
					-	Labor:	\$141.67
Customer PO No:						Parts:	\$0.00
Tax Exempt No: 7312598	841					OL&M:	\$0.00
	WARNOCK					Misc:	\$241.70
						Sales Tax:	\$0.00
		_	•			Total:	\$383.37

TERMS AND CONDITIONS

Farm Plan transactions are subject to the terms of Farm Plan.

All open accounts are payable by the 10th of the month following the date of purchase. Accounts not paid by the 10th of the month following purchase are subject to interest charges of 1.5% per month, which is an 18% annual rate. Accounts which are not paid by the 10th of the month are subject to closure and collection procedures. Parties agree that jurisdiction and venue of any action brought to enforce or collect this account shall properly lie in Kingfisher County, State of Oklahoma. In the event that P&K Equipment, Inc. must employ an attorney to enforce or collect this amount, they shall be entitled to recover reasonable attorney fees and expenses incurred therein.

Received by	Date:



Phone: (580) 237-2304 www.pkequipment.com



Invoice To Account No.:	Deliver To:	* * * DOCUMENT	COPY * * *	l SE	RVICE INVOICE
Internal Used Stock No. 196100	Internal Used S	tock No. 196100	Invoi	ce Number:	1735170
				nvoice Date:	10/31/2014
			:	Location:	2
			Work Or	der Number:	387117
			∥ Pa	yment Type:	Account
Bus Phone:	Bus Phone:				
Prv Phone:	Prv Phone:			Page:	1 of 2
			1	Make/Model:	JOHN DEERE JD 8360R
			Me	ter Reading:	
•			Se	rial Number:	1RW8360RPBD043281
			Equipm	ent Number:	104371

Gen- Internal COMPLAINT:

SERVICE REQUEST: A-1 inspection--it was having trans calibration codes

CAUSE:

CORRECTION:

DIAGNOSIS:

\$810.00

SERVICE QUOTE:

SERVICE PERFORMED: PERFORMED CPO INSPECTION. CHANGED ALL FILTERS & ENGINE OIL. NO TRANS CAL CODES - TRANS CALIBRATED SERVERAL TIMES NO PROBLEMS.

Part Number DKGA2019	<u>Description</u> Promotional Item	Quantity 1.00	<u>Unit Nett</u> 60.00	<u>Value</u> \$60.00	<u>Taxed Ind</u> N
RE210102	AIR FILTÉR	1.00	102.61	\$102.61	N
RE210103	AIR FILTER	1.00	67.31	\$67.31	N
RE210857	OIL FILTER	2.00	80.09	\$160.18	N
RE284091	AIR FILTER	1.00	56.13	\$56.13	N
RE291412	AIR FILTER	1.00	56.13	\$56.13	N
RE509672	FILTER ELE	1.00	20.88	\$20.88	N
RE533910	FUEL FILTE	1.00	124.92	\$124.92	N
RE539465	Filter Element	1.00	85.44	\$85.44	N



Phone: (580) 237-2304 www.pkequipment.com



Invoice To Account No	.:	Deliver To:	* * * DOCUMEN	T COPY *	·· S	ERVICE	E INVOICE
Internal Used Stock	No. 196100	Internal Used	Stock No. 196100		Invoice Number:		1735170
					Invoice Date:		10/31/2014
					Location:		2
					ork Order Number:		387117
					Payment Type:		Account
Bus Phone:		Bus Phone:					
Prv Phone:		Prv Phone:			Page:		2 of 2
					Make/Model:	JOHN !	DEERE JD 8360R
					Meter Reading:		
					Serial Number:	1RW	8360RPBD043281
				E	Equipment Number:		104371
Gen- Internal TY26682	Plus-50 II Oil	15W40 CJ4/SN	I		27.00	3.52	\$95.04 N
Labor: \$810.00	Parts: \$828	.64 (OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$1,638.64
Miscellaneous Char Service Accessorie							\$40.97
						Labor:	\$810.00
Customer PO No:						Parts:	\$828.64
Tax Exempt No:	731259841					OL&M:	\$0.00
Advisor:	SCOTT WARNOCK					Misc:	
						Sales Tax:	\$0.00
· ·						Total:	\$1,679.61

TERMS AND CONDITIONS

Farm Plan transactions are subject to the terms of Farm Plan.

All open accounts are payable by the 10th of the month following the date of purchase. Accounts not paid by the 10th of the month following purchase are subject to interest charges of 1.5% per month, which is an 18% annual rate. Accounts which are not paid by the 10th of the month are subject to closure and collection procedures. Parties agree that jurisdiction and venue of any action brought to enforce or collect this account shall properly lie in Kingfisher County, State of Oklahoma. In the event that P&K Equipment, Inc. must employ an attorney to enforce or collect this amount, they shall be entitled to recover reasonable attorney fees and expenses incurred therein.

Received by:	Date:
--------------	-------



Part Number

<u>Description</u>

3802 W. Doolin Ave Blackwell, OK 74631 Phone: (580) 363-3758 www.pkequipment.com



Invoice To Account No.:	Deliver To:	* * * DOCUME	NT COPY * * *	SERVICE INVOICE
Internal Used Stock No. 19610	00 Internal Used	Stock No. 196100	Invoice Numbe	: 1823221
			Invoice Date	e: 4/1/2015
			Location	n: 10
			Work Order Numbe	r: 408546
			Payment Type	e: Account
Bus Phone:	Bus Phone:			
Prv Phone:	Prv Phone:		Page	: 1 of 2
			Make/Mode	I: JOHN DEERE JD 8360R
			Meter Reading	ı; 841
			Serial Numbe	r: 1RW8360RPBD043281
			Equipment Numbe	r: 104371
SERVICE REQUEST: CHECK A CORRECTION: SERVICE REQUEST:	ILL FLUID LEVELS, ALL LIGHT	'S AND GAUGES, CH	ECK A/C FUNCTION	\$113.25
DIAGNOSIS:				
SERVICE QUOTE:			-	
SERVICE PERFORMED: check	all lights,fluids and functions			
Labor: \$113.25	Parts: \$0.00 OL	&M: \$0.00	Misc: \$0.00	Sub-Total: \$113.25
/DELIVER ONLY Internal COMPLAINT: DELIVERY ONLY, NO PICK UP				
CORRECTION:				

Quantity

Unit Nett

Value Taxed Ind



3802 W. Doolin Ave Blackwell, OK 74631 Phone: (580) 363-3758 www.pkequipment.com



Invoice To Account No.:		Deliver To:	* * * DOCUI	MENT COPY	* * *	SERVIC	<u>= INVC</u>	JICE
Internal Used Stock No.	196100	Internal Used	Stock No. 196100		Invoice Num	ber:	18	23221
					Invoice D	ate:	4	/1/2015
					Loca	tion:		10
		İ			Work Order Num	ber:		408546
					Payment T	ype:	/	Account
Bus Phone:		Bus Phone:						
Prv Phone:		Prv Phone:			Pa	age:		2 of 2
					Make/Mo	del: JOHN	DEERE JD	8360R
					Meter Read	ling:		841
					Serial Num	ber: 1RW	8360RPBD	043281
					Equipment Num	ber:		104371
/DELIVER ONLY Internal 5260		NSPORT FEE, ZON	NE 6		1.00	330.00	\$330.00	N
Labor: \$0.00	Parts: \$0.0	OL	&M: \$0.00	Misc	: \$330.00	Sub-Total:	\$330.00	
Miscellaneous Charges: Service Accessories								\$11.08
						Labor:	\$	113.25
Customer PO No:						Parts:		\$0.00
Tax Exempt No:						OL&M:		\$0.00
Advisor: Cod	y Wornkey					Misc:	\$	341.08
						Sales Tax:		\$0.00
						Total:	\$	454.33

TERMS AND CONDITIONS

Farm Plan transactions are subject to the terms of Farm Plan.

All open accounts are payable by the 10th of the month following the date of purchase. Accounts not paid by the 10th of the month following purchase are subject to interest charges of 1.5% per month, which is an 18% annual rate. Accounts which are not paid by the 10th of the month are subject to closure and collection procedures. Parties agree that jurisdiction and venue of any action brought to enforce or collect this account shall properly lie in Kingfisher County, State of Oklahoma. In the event that P&K Equipment, Inc. must employ an attorney to enforce or collect this amount, they shall be entitled to recover reasonable attorney fees and expenses incurred therein.

Received by:	Date:	



4121 North Highway 81 Bypass Enid, OK 73701

Phone: (580) 237-2304

Phone: (580) 237-2304 www.pkequipment.com



Invoice to Account No.:	Deliver To:	* * * DOCUM	ENI COPY ***	CKAIC	
Internal Used Stock No. 196100	Internal Used	Stock No. 196100	Invoice Number:		1826614
			Invoice Date:		4/4/2015
			Location:		2
			Work Order Number:		410242
			Payment Type:		Account
Bus Phone:	Bus Phone:		1		
Prv Phone:	Prv Phone:		Page:	_	1 of 1
			Make/Model:	JOHN	DEERE JD 8360R
			Meter Reading:		824
			Serial Number:	1RW	8360RPBD043281
			Equipment Number:		104371
COMPLAINT: SERVICE REQUEST: INSPECT, MAKE CORRECTION: SERVICE QUOTE: SERVICE PERFORMED: Looked over for					\$300.00
EXT WASH, EXT WAX, INT COMPLETE		,			
Labor: \$50.00 Parts:	\$0.00 C)L&M: \$250.00	Misc: \$0.00	Sub-Total:	\$300.00
Miscellaneous Charges: Service Accessories					\$2.50
				Labor:	\$50.00
Customer PO No:				Parts:	\$0.00
Tax Exempt No:				OL&M:	\$250.00
Advisor: Timothy Krienke				Misc:	\$2.50
				Sales Tax:	\$0.00
				Total:	\$302.50

TERMS AND CONDITIONS

Farm Plan transactions are subject to the terms of Farm Plan.

All open accounts are payable by the 10th of the month following the date of purchase. Accounts not paid by the 10th of the month following purchase are subject to interest charges of 1.5% per month, which is an 18% annual rate. Accounts which are not paid by the 10th of the month are subject to closure and collection procedures. Parties agree that jurisdiction and venue of any action brought to enforce or collect this account shall properly lie in Kingfisher County, State of Oklahoma. In the event that P&K Equipment, Inc. must employ an attorney to enforce or collect this amount, they shall be entitled to recover reasonable attorney fees and expenses incurred therein.

Received by:	Date:
--------------	-------